4 8
X
+5V o S
3
=z X1
ol e POWFRSUPPIY_DC21MMX U1
cMP NCP1117ST50T3G +5V
3 VIN
3 - IN ouT
@y +ava 2 N - N 2 v &
- z LMV358IQGKR ~ _SCK_ 5[ USB ERIRS F>+QL__. o
7 z M7
M E d ] = N = %
=] | - = PCL £l 5 PC2C2 o
= ul LMV358IDGKR| 3 47u 470 100n po c
GND g - < 3
GND ] +Y © = 4
- c® £
i GND GND GND GND wE Q
+5V ND < =
uz G ag I}
T T RV = :
+5V 1 5+ T S
—usBvCeC T IN out fe v
=0 + @
Fg 31 on/oFF c3 v P01WER § @ E “g’
2 2 enp NeFB [ 1u 28 = ° 2
Q RESET 35 NE 9 3
= LP2985-33DBUR +3V3 4O -;:" = 22 E
Arduino(TM) UNO Rev3 i 28 58 Beos <
wo = i
0 Er Z5of &
¢ VIN | 52 g3 Ef5s o
—O @ TL3% 2
=<l L < Efec B
=zl OO GND 8x1F-H8.5 ;5 £2o52 &
' C [
=| oo ‘ GND iz 0328 ¢
ICSP1 NRGER 0 9B5c ¢
N - ow F:= g N <
msoz [0 & v bf rieg ¢
e Eg e gy 15 e 1 L % 1202
ce=C O
o o L | @ «ﬁ gy 8 100n 2g c€38 ¢
3x2 M E[] iy N RESET-GN_ \ 55 68 -4 . 10x1F-H8.5 <t 83 8g @
| & 1g4p2 o o i apsisdioq] scL 0% E£s5E8°5 8
D ¥ § U3 - o = 32 M GND x —_apwsa 95| SDA g 2588 3
= o (PCINT7/OCOA/OCIC)PBT PB7 O3 oL~ | O X 80 << Eg52 <
= (PCINTE)PB6 - - DARA23 2| 1e) wE Soas I
Fl RESET(PCL/DW) (PCINT5)PBS PBS ! HZz ST zua a! = 50| 13 2Q ge28
USB-B_TH (T1/PCINT4)PB4 PB4 - il ST S | —iO 12 25 =555 9
X2 MF-MSMF050-2 500mA (PDO/MISO/PCINT3)PB3 MISO2 - =210 RESET (SCK)PB5 —O| 1 Z5 08°0 2
22R RN3A a XTAL2(PCO) (PDI/MOSI/PCINT2)PB2 MOSI2 GND O (MISO)PB4 0| 10 5= 5852 3
ko 2 (SCLK/PCINT1)PB1 SCK2 = (MOSI)PB3 0l 9 Hz BEFE Z
D- = O XTALL (SSIPCINTO)PBO XTAL2 (SS)PB2 SS | 10| s 5T 523° %
T 28 RN3pp (OC1)PBI 169 r_ fo 2832 ¢
8 o " = CSTCE16M0V53-R0 16MHZ XTALL (IcPIPBO 08 6 A5 3 E g = E 'qi g
: : AVCC (INT4/ICP1/CLKO)PC7 i - S 0 SBsg ¢
+
i S S 5V (OCIAIPCINTE)PCS N §¢ 45V AREF 21 | \per (ADC5)PC5 ﬁgzgg"& | io ﬁg ! EE 8 :fi %
2 % % 4 (PCINT9/0OC1B)PC5 S & AVCC (ADC4)PC4 D2 I 30 ey RN3B 22R 5= g °3 - £
g o H S H 3 i vec (PCINT10)PC4 o o AGND  (ADC3)PC3 fbs I 50| A2 . 228G o
4 N gN 38 GND (AIN2/PCINT11)PC2 @ (ADC2)PC2 AoT I 10 o 2 2 © 28§ &
Q Q vce (ADC1)PC1 =0 RN3C 22R 2 cdas g
o o (CTS/HWB/AING/TO/INT7)PD7 GND GND (ADCO)PCO) ADQ [ 55 82£3 5
TP_VUCAP 27 ) §Zo5 o
_ S ucap (RTS/AINS/INT6)PD6 = n® £§25 2
USBVCC uvee (XCK/AIN4/PCINT12)PD5 IXLED (AIN1)PD7 107 ol 7 <Q G508 B
RD- 30 RXLED 106 7 2Z Dozn ©
o] D (INT5/AIN3)PD4 YRSl NS 100n (AINO)PD6 oe 6O 6 o 2885 o
100n . RD+ S5 D+ (TXD1/INT3)PD3 A\ 1K RN2C pl (T1)PD5 SO 5 % S B9 e
< c7 = _L_ UGND UGND (RXDL/AINL/INT2)PD2 MBTXD e GND (TO)PD4 :gf; 20| a 20 &< % g
= - (AINO/INT1)PD1 X (INT1)PD3 Ol 3 0Z Yosc
. cs 2. 3 1 pap (OCOB/INTO)PDO YELLOW (INTO)PD2 102 3O1 > . 28cg 82
()] © © ©
GNL tu 5ROUND (TXD)PD1 101 251 1 oE £8c55 3
GND 5 = ATMEGA16U2-MU(R) . RN (RXD)PDO 100 5|3 23 5585 %
—1 S oS & B
1K ATMEGA328P-PU ég g §~g £ %
RX 25 >059
YELLOW. M8RXD 1%&4? § [0) E% %J £ -r%
— zZ <%2%
Q= Q=
meTxD 1§ RNIA 85 w2L3 2
%é % Sod 8
W 8202
re <LsEFE <

@ @0

Arturo Guadalupi

UNO-TH_Rev3e

23/081/13 16:53

Sheet: 1/1

7ARDUIN{O

8




